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This section COMprises of questions in which certain data regarding common diseiplings
a5 production over n period of a few years : imports, exports, ineomes of employess in

Thus, here the data collected by the investigator are arranged in a gystematic form
in a table called the tabular form. In order to avoid some heads again and again,

(E.B.LPO. 1298)
NUMBER OF DIFFERENT TYPES OF BATTERIES BOLD BY A COMPANY
OVER THE YEARS (NUMBERS IN THOUSBANDS)

TYPES OF BATTERIES d

Year 4AH TAH 32AH 35AH 65AH Total
1952 75 144 114 102 108 G433
1953 80 12& 102 54 125 528
1954 k=L 114 75 105 135 525
1995 105 L 150 H{ 75 al0
1996 g0 il 135 T a0 465
1997 105 L] 165 45 120 495
1908 115 8G 160 100 145 G056
L The total sales of all the seven years ig the maximum for winich bat ?

() 4AH (bl TAH fe} 32AH (d) A5AH (e SEAH
2. What is the difference in the number of 35411 batterios sold in 1993 a4ng 1987 7

(&) 24000 il 28000 ) 25000 (d} 39000 (el 42000

3. Thea percentage of 4AH hatteries sold to the tatal number of batteries eold wag
maxiriim In the vear :

{a) 1894 (b} 1995 (¢} 1986 (d) 1927 {c) 1998

lal 4AH (&) TAH e B2AH () 35AH {e) 55AH
5. What was the Approximate percentage increage in the sales of 554 batteries in 1085

(2} 28% (& 31% (o 33% (d) 3a% (8] 3T%
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1. (&) : The total sales (in thousands) of all the seven years for varipus batteries
are
For 4AH = 76 + 80 4 596 + 105 + 80 + 105 + 1156 = GI6

For TAH = 144 + 128 + 114 + 80 + 75 + 60 + 85 = 604
For 32AH = 114 + 102 + 75 + 150 + 135 + 165 + 160 = 501
Fhrﬁﬁ.l'hH=1D2+H+]Uﬁfm+?5-45+1m—ﬂi}1

For 65 AH -1Uﬂ+125+135+'i'51Hl]+12ﬂ+14-3=']'99.
Cloarly, sales are maximum in case of 32AH butteries.

2, (d} : Required difference = [(B4 - 45) = 1000) = 30000,

8. (d) : The percentages of sales of 4AH batteries to the tetal sales in differemt
VEATE AT

T4

i
For 1802= xlﬂﬂ]'.l::lﬂ.ﬂl':ﬁ-; Faor 19’93=(%Lx1ﬂﬂ]'&-=]?-l]5%;
L £ i

For 1994 = [ﬂ « 100 %
525

)
18.20%,; For 1985= [;;:5[' = 100 | % = 20.05%;
A

F =13 1 105 )
or 1996 = | —— x 100 [% = 19.36%; For 1907 =| — x 1ou% = 21.21%;
465 ) 495
b
i

"115
For 1888 =| —
|".E 5

Clearly, the percentage is maximum in 1997,
4. (¥ : From the teble it is elear that the sales of TAH batteries have been
decreasing contingously from 1982 to 1997

» IW}’:E- = 18.01%.

K {d) : Required Percentags = “—]”‘"’:Tf“'] mm]* - 34.96% - HT.

2. Study the following table mr;fulb' and answer these questions :
(8.B.LEO. 2002)

NIU/MBER OF CANDIDATES APPEARED AND QUALIFIED IN A

COMPETITIVE EXAMINATION FROM DIFFERENT STATES OVER THE YEARS

\‘%r\ 1997 1888 1888 2000 2001

Bta App. | Qual. | App. | Qual. | App. | Qual. | App. | Qual. | App. Qual.
M 5200 | 720 | 800 | 980 | 7400 | 860 | 6800 775 | 9500 | 1128
N 7500 | &840 | 9200 | 1050 | 8450 | 920 | 8200 | @S0 | BSO0 | 1020
P 5400 | 780 | =800 | 1020 | 7300 | ss0 | BTG50 | 1010 | $750 | 1250
o] a100 | @50 | 9500 | 1240 | 8700 | ©&0 | 8700 | 1200 | 8050 | 895
R 7800 | 870 | 7600 | o940 | 9s00 | 1350 | TEOO | 45 | 7990 | BAS

1. Combining the states P and @ together in 1983, what 1= the percentage of the candidates

gualified to that of the candidates appeared 7
(&) 10.87% (b 1145% (e} 1230% (d) 1254% (¢ 13.06%

2, The percentage of the total number of qualified candidates to the total number of

appearsd eandidates among all the five states in 19898 is
(a) 1148% () 1134% (e} 1221% () 12657% (g 1273%

. What is the percentage of candidates qualified from State N for all the years together,

over the candidates appeared from State N during all the years together T
(&) 12.36% (b} 12.16% () 11.47% {(d) 11.15% (&} None of these
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4.

5.

Sol. 1.0& : Heguired Percentage =

What is the average of candidates who appoared from State Q during the given yeas
{a) ETOD b} 8760 ie) BR10 (d) 8920 () ROO0
In which of the given years the number of candidaies appeared from State P has
maximum percentage of qualified candidates 7

(e} 1807 {b} 1988 (¢) 1949 () 2000 jed 2000

Total number of candidates qualified from all the stales logether in 1997 is
approximately what percentage of the total number of candidates qualified from all
the states together in 1995 7

(a) T2% (B TT% () BOS {dh 53% i@ BE%

T(1020 £ 1240) [ ﬂﬁtﬂ] < 100 1%

J

120 TS 100 % =
(8200 - 9500) |

= 12.35%.

(RG0 & D20 + RS+ S50 + 1350}
; : . A % 100|%
2. (b : Required Percontage Iigm.mimmﬂ ATON + SE00) ]

_(**99"}

42160

(840 + 1050 + 920 + V8O + 1020)
(T500 + D200 + 8450 + 5200 + 8800}

[ 4510

111}0]1- = 11.84%.

3. (d) : Reguired Percentage = [ x 1!]'[!]*1

3
—— ¥ 100 [ = 11.15%.
13150 ]

FL00 + 9500 + ETOD + 9700 + 3950 44950
4. (g} : Beguired average - e T oy s

5. (&) : The parcontages of candidates qualified lo candidates appeared from State
F during different yvears are ;

T80
W7 =
Rond {mm

B89,

Ny
® mqu: = 11.69%;

%
100 % = 12.19%; Fnr1msa{;:$

10110
B750

M1m-[%x1m}x=1mm Furm=[ !Im}l—'llﬁﬂ:
F]

{1250
~ | 8750

Maximum percentage ia for the year 2001,

{720 + BA0 + 780 + 950 + §T0)
1 _ J 100 |%
B. (¢} : Heguired Percontage [{Em + 160 + 1020 = 1240 + 5400 ) ]

AL ]
= %100 [% = 79.54% = BO%.
r 230 |

Far 2001

x 1[!]1'!'1 = 1 2B

Ex. 3. The following table gives the percentage of marks obtained by seven students
in gix different subjects in an examination Study the table and answer the questions
based on it. The numbers in the brackets give the maximum marks in each subject.

{Bank FO. 2003)
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2

3 (b

4 (b
B (B ;

Subjects
Max, Maths | Chemistry | Physica | Geography | History | Computer
arks) Beience
Student {1580) (130) (120} (100} (60) (40)
Ayush o0 50 S0 i T &0
Aman 100 &0 &0 40 ED 70
Sajal a0 &l TO T0 G0 To
Raohit a0 65 an E.Li G 60
Muskan B0 65 an an S0 &0
Tanvi Th T5 1] &5 40 &0
Tarun a5 35 &0 7 ac a0
1. What was the aggregate of marks obtained by Sajal in all the six subjects 7
{a) 409 (b 418 lel 429 {d) 438 (el 449
2, What iz the overall percentage of Tarun 7 .
(m) 52.6% (k) 55% el % {d) B3% (o} 64.5%
3. What are the average marks obtained by all the seven students in Physics ? (rounded
off to two digits after decimal)
(&) TT.26 {b) 89.14 [£} 9137 (o) 9611 (¢ 108.27
4. The number of students who oblained 60% and above marks in all the subjects is :
(a) 1 (B} '2 (cr 3 (dl MNone (e} None of Ehese
B. In which subject i3 the cverall percentage the best 7
(&) History (b} Maths () Physics (dl Chemistry (& Geography
Bol. 1.{¢) : Aggregate marks obtained by Sajal

= {8FF of 150) + (6% of 1300 & (7% of 1200 &£ (T0% of 100) £ (90% of 60}
# (705 of 4001 = 135 + 78 = 84 + 70 + 54 + 28 = 449,
Aggregate marks obtained by Tarun
= [{66% of 150) + (35% of 1300 + {60F%: of 1201 = (T7% of 100} = (80% of GO}
+ (80% of 40)] = 9756 = 45,56 =+ 60 + TV + 48 + 32 = 360,
Total maximum marks (of all the six subjects)

= (150 + 130 + 120 + 100 + 60 + 40) = 6.

Crwverall pereentage of Tarun = [%H 1W:|'I: = G0%.
Average marke obtained in Physics by all the seven students
= %:-. [(80% of 1200+ (B0% of 120) + (TO% of 120} + (BO0% of 120)
+ (B5% of 1200+ (65% of 1200+ (50% of 120)
= :]-r!l: (190 + B0 + TO+ 80 + &5 = 65 « 500% of 120

i %u [520% of 120 - % - 89.14.

From the table it is clear that Sajal and Rohit have 0% or more marks
in esch of the six subjects.

We shall find the overall pereentage (for all the seven students) with respect
to each subject.

The evorall perecntage for any subjeet 18 oqual to the average of percentages
obtained by all the seven students since the mavimum marks for any
subject is the same for all the students,
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Therefore, overall percentage for
() Maths = Huwm 100 + 50 + B0 + B0+ 70 + EE:-]*:’-

.
= [%rlﬁ?ﬂﬂ% = B2 14%.
4

(it Chemistry ;I-%:-c B+ B0 +A0 + A5 = 65+« Th *HEI-]!:

) %H[ﬂﬂ]]i = B1.43%.

i
(iify Physics = [ix{ﬂfmffu‘:ﬁﬂ‘ﬁﬁ‘r as-&mJ%
i

. [17 5-c IEEM]-} = 74.29%.
{iv) Geography = i%w[ﬁﬂ+dﬂt?ﬂ+ﬂﬂrﬂ‘.’:+ﬂﬁ*??]]ﬁ-
- [; x (507 |8 = T249%.
o |
(v) Histary = HH[M+m+m4 B0 + 5O + 40 + sm]u-
= [Elrm;ﬂu:% - §7.14%,

=

ivih Computer Science = [E:(Eﬂ- T + Tﬂfﬁﬂ-ﬁ-g‘u*’ﬁn*m]J"
d

= !-%HHH.DJ % = T2.06%.

Clearly, this percentage isl-l'righﬂit for Maths.
Ex. 4. Study the following table carefully and answer the questions given below :
(Buok PO, 2001)
CLASSIFICATION OF 100 STUDENTS BASED ON THE MARKS OBTAINED
BY THEM IN PHYSICS AND CHEMISTRY IN AN EXAMINATION

Marks out
\ﬂ 40 and 30 and 20 and 10 and 0 and
Subject above above above ahove above
Physics 9 az 80 6z 100
Chemistry 4 21 L Bl 100
(Aggregate)
Morerage 7 7 T3 BT 100
1. The number of studenis scoring lese than 40% marks in aggregate is
{e) 13 by 19 te) 20 (dy 27 (oh 34

2. If at least 60% marks in Phyeics are required for purening higher studies in Physics,
how many students will be eligible to pursue higher studies in Physies ¥
ia) 27 (b) 32 e 34 {d) 41 (o) B8

8. What is the difference between the number of students passed with 30 as cut-off
marks in Chemistry and those passed with 30 as cut-off marks in aggregate ?
fa) 3 (k) 4 (g} & (d & el 7
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4. The percentage of the number of students getting at least 60% marks in Chemistry
over those getting at least 404 marks in aggregate, is approximately :
a) 21% (b 27% (ch 29% (d) 1% (e 34

6. Ifit is known that at least 23 studenls were eligible for 2 Symposium on Chemistry,
the minimum qualifving marks in Chemistry for eligibility to Symposium would lie
in the range ;

(&) 40-50 (b 30-40 tel 20-30 (d) Below 20 (o) Cannot be determined

' %
Scl. L (d) - wEhaueanmurﬁn-|%um = 20,
LS r

Required number = Number of students scoring less than 20 marks in
DEETCELLE
= 100 - number of students scoring 20 and above
marks in aggregate = 100 - 73 = 27

60
2 by ; We hove 0% of W"['ﬁxﬂﬂéﬂﬂ.

i
= Required number = Number of students scoring 30 and above marks
in Physies = 32
3.(d} : Required difference = (Number of studenis scoring 30 and above marks in
Chemistry) - (Number of etudents scoring 30 and
above marks in aggreégate) = 27 — 21 = G
4.0} : Number of students gotling at least 80% marks in Chemistry
= Number of students gefting 30 and above marks in Chemistry = 21,
Mumber of students getting at least 40% merks in aggregate
= Number of students getting 20 and above marks in aggregate = 73.
r.  Required Percentage = !r% 100 |% = 28. 776 = 294,
4

6. (e) : Since 66 students get 20 and above marks in Chemistry and out of these
21 studentz get 30 and above marks, therefore to select top 35 students in
Chemistry, the qualifying marks should lie in the range 20-30

Ll e T S ———

EXERCISE 36

Direetions (Questions 1 te §) : Study the following table and answer the guestions
based on it (Bank PO, 2003)

NUMBER OF CANDIDATES APPEARED, QUALIFIED AND SELECTED IN A
COMPETITIVE EXAMINATION FROM FIVE BTATES DELHI, HP, U.P, PUNJAB
AND HARYANA OVER THE YEARS 1994 TO 1998

Delhi H.P L0 Ponjeh Harvama
Tear | App. |Qual | Sel. | App. |Qual.| Bel. | App. [Qual. | Bel. | App. |Qual. [Sel. | App. |Qual.| Sel ]
1997 | 4000 | 850 | o4 | TE0O)| BLO | S2 | TH00) T20 | 78 | A200| 680 | 85 | G400| 700 | TS
1958 | 4800 | 500 | 48 | 7500 | B0 G20 | B5 | 6&00| 600 | 70 | T100| 650 | 75
1000 | TR0 ) 640 | 82 | T400 | 560 4800 | a0 | 46 | 6500| 525 | 65 | 5200 380 | &5
2000 | 9500 | 850 | 90 | 8’00 | 520 To00 | 650 | 70 | 7E00| 720 | 84 | G400| 540 | B0
2001 | ae00 | 8oa | 70 | 200 ES0 B500 | 950 | &0 | 5700| 485 | 60 | 4500) G000 | 7S

L In the year 1997, which state had the lowest percentage of candidates selected over
the candidates appearsd ?

(a7 Delhi (b H.E ey TLF {dl Punjab (¢l Harvana

1]
ot
(5

nl
=

3

=1
&
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'

The percentage of candidates qualified from Punjab over those appeared from Punjah
is highest in the year :

(@) 1997 [ 1998 (e} 1989 id) 2000 (s 2001

The percentage of candidates selected from UF. over those qualified from UP is
highest in the vear :

La) 1987 (I 1998 {c) 1999 [dl 20400 (et 20001

The number of candidates selectod from Haryana during the period under review is
approximately whal porcent of the number selected from Delhi during this period 7
(&) TO.5% (h] 1% [ B4.5% {dl BE.5% L& 925%

For which state the average number of candidates selected over the years iz the
maximum 7

(8} Delhi (b HE i} P {dl Punjab (& Haryana

What is the approximate percentage of total number of candidates selected to the
Lotal number of candidates qualified for all the five states together during the year
1999 7

{a) 10% i 11% {ch 12% Ld} 1% (e 14%

Directions (Questions 7 to 11) : Study the following table to answer the guasiions
that are given below it (R.B.I. 2003)

EXPENDITURES OF A COMPANY (IN LAKH RUPEES)
PER ANNUM OVER THE GIVEN YEARS

Item of Ex- Balary Fuel and Honus Ioterest Taxes
enditura Transport on

Year Loans
19498 288 3 3.00 23 .4 B3
1889 342 112 252 d2.5 108
2000 324 101 3.54 418 74
2001 Ja8 133 3.68 36.4 &8
20002 420 142 J.86 45,4 a8
7. The ratio betwesn the total expenditure on Taxes for all the Years and the total

10.

11

expenditure on Fuel and Transport for all the years respectively is approximately ;

lai 4 :7 (ba 10 - 13 (ch 15 : 18 id) 5:8 (et 2 -3
The total expenditare of the Company over these items during the yoar 2000 is :
(o] Ra. G444 lakhs (B Re. 500.11 lakhs (el Hz. 44646 lakhs
(d} Rs. 47887 lakhs {2} Rs. 512.13 lakhs

What iz the average nmount of interest pur vear which the Company had to pay during
thiz period 7

ta) Rs. 32.43 lakhs (b} Rs. 33.72 lakhs (ef Re. 34.18 lakhs
(d) Rs. 35.69 lakhs (e} Rs, 3688 lakhs
Total expenditure on all these items in 1998 was approximately what percent of the

total expenditure in 2002 7

la) 625 (b} B6% ic) 69% (dl T1% & T3%
The tetal amount of bonus paid by the Company during the given period is
approximately-what paresnt of the total amount of salary paid during this period 7
a) 0.1% b 0.5% (o 15 (el 1.25% (W 1.11%
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Directions (Questions 12 to 16) : A sehool has four sections A, B, C, I} of Class IX
students. The results of half-yearly and anoual examinations are shown in the table
given below. Answer the questicns based on this table. iBank PO, 2000}

Number af Students
Besult
Bection A | Section B | Section C | Section D
Sindents failed in both Exame L] i 17 az
Bludents failed in halfvearly
but passed in Annual Exams 14 12 g 13
Students passed in hall-vearly
but failed in Annosl Exams [ 17 2] 14
Students pazzed in both Exams &4 55 44 76
12. How many students are there in Class IX in the school 7
{a) 336 ibhy 1859 {e) 335 id) 286G (gl 430
13. Which section has the minimum failure rate in half-vearly examination 7
(a) & (b B {cy C
(dl I (el Cannot be determined
14. Which section has the maximum sueeess rale in annoel exomination 7
(n] A (b B (o)
() (&) Cannet be determined
15. Which seetion has Lhe mavimum pass percentige in at least ore of the two examinations ?
18] A ih B =
(D Tel Cannot be determined

16. If the number of students passing an cxamination be considered a criteria for
comparison of difficulty level of two examinations, which of the follovding statements
is true in thig context ?

(a) Half-vearly examinations were more difficult

(& Annual éexaminations wore more difTicult

(¢} Both the examinations had almest the same difficulty level.

(d) The two examinations cannot be compared for difficulty devel.

(el For students of Seetionz A and B, the annual examinations scem to be more difficult
as compared to the half-vearly examinations

Directions (Questions 17 to 21) - The following table shows the number of new

employees added te different categories of employees in & Company and alse the
aumber of employees from these categories who left the company every year since the

foundation of the Company in 1995, (RBank PO, 2001)
Managers Technicians (Iperators Accountants Feons
Year | New | Left | New | Left | New | Left | New | Left | New | Laft
1905 Ta0 —_ 1200 _— BB — 1150 - B20 e
1926 280 120 272 120 258 104 200 100 154 28
1987 178 B2 240 | 128 240 120 224 | 104 152 K&

1558 148 EH G 44 208 1000 48 91 1486 B0
1994 160 T il 100 192 112 272 AR 224 | 120
2000 163 94 ZE8 112 248 144 250 82 200 14
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17

18.

18,

0.

21

During the period between 1995 and 2000, the tatal aumber of Operaters whe lefl the
Company is what pereent of the tetal number of Operators who joined the Compainy ¥
(&) 1% (b 21% (o 27% (ef) 204 {6) 3ER
For which of the following eatapories the pereantage inereace in the number of employess
working in the Company from 1995 to 2000 was the maximum ?

{a) Managers (B Technicians (¢ Operators (d) Aeeountants (& Feons
What ie the differonce betwean the total number of Technicians added to Uhe Company
u%{l‘r total number of Accountants added to the Company during the years 1886 to
2 i

(a) 128 {H] 112 leh 86 d) BE e T2
What was the total number of Peons working in the Company in the year 1989 7
(a) 1312 (&) 1192 [ey 1088 {dl D68 (o) D08
What is the pooled average of the total number of employees of all eategories in the
wvear 18997 7

(al 1325 (b 1285 lch 1265 (dh 1235 (g 11896

Directions (Questions 22 to 25) : The fellowing table gives the percentage
distribution of population of five staies, F, §, R, 5 and T ¢n the basis of poverty line
and also on the basis of sex. Study the table and answer the guestions based on it.

{Bank PO. 2000)

Percentage of Proportion of Males and Females
Population below Below Poverty Line Above Poverty Line

State Poverty Line M F M F

P 35 & € L T

L* 25 b L " S Sl

R 24 1 2 2 3

3 14 ] 2 4 3

T 15 B .t & 3 2

22. What will be the number of females above poverty ling in the State 5 if it is koowe
that the population of State 5 is 7 millien ?
(a) 3 million (b 243 million i) 1. mallion
{d) 5.7 million (e 1.61 million

923, If the male population above poverty line for State K is 1.9 million, then the total
popualation of State R s
{a} 4.5 million (b 4.85 million {er 5.85 mallon
(dl 625 million (el 7.6 millicn

24. What will be the male population above poverty line for State P il the female
population below poverty line for State P is 2.1 million ?
(a) 2.1 million (5 2.3 million el 2.7 million
(d) 3.3 million (¢l 3.4 million

25, If the population of males below poverty line for State & is 2.4 million and that for

State T is & million, then the total populatiens of states Q and T are in the mtie :
(a) 1:3 (bl 2:5 (el 3: 7 (d 4:8 (o 52 12
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Lidd 220(d 34 4id B&i® 6@ LB && 8 @

10. (e} 1L {a) 12 {4 13 (d 14 (=) 15 (d 16 (ct 17.(dd 18 (a)
18. () 20.(b) 200 22 () 28 (dh 4 () 25 (B

(0

Liag)

(v

The percentages of candidates selecled over the eandidates appeared in 1997, for
varioug gtates are :

. [ 4 ) il o il . :

For Delhi = [su-nn x:lmji 1.175%; (id Fer HP. = [ ?mxlﬂﬂ]‘i 1.051%:;
For UP. = [ " 100w - L040%; (iv} For Punjab = {ﬁ- Hlﬂﬂ]ﬁ- = 1.037%:
7500 | 8200 ;

il
For Haryana [E-'IN
Clearly. this percentage is lowest for Punjab.
The percentages of candidates qualified from Punjab over those appeared from Punjab
during different years are :

3 IM]“II- = 1. 1735,

For 1997 = [ﬂmm]m = 8.29%: For 1998 = lﬂ"—ulmji = B.EM%;
For nm—-[“"‘ :m]m-sm; For 2000 = | /20 nm}* _ gy,
|, THM
485 \
= | — | = H !
For 2001 [5 x100 % = 8.51%

Clearly, this percentage is highest for the year 2000,
The perecntages of candidates selected from ULP. over those qualified from U during
different years arg

For 1987 = | 2, rm]m = 10.83%; For 1998 = [55-- £100 % = 13.71%
720 B2l }

For 1999 = [“ « 100 | % = 12%; For 2000 = | 10 % 100 |% = 10.77%;
100 J 650 J

For 2001 = [E:I:l: ]m"ll:'ﬁ u B42%.
50 J

Clearly; this percentage is highest for the year 1998,

; (T5+ 75 + 65+ 60+ T5)
Keguired Percentage = | e -
i * [M+49+3ﬂ+aﬁ-wus"
340
= | e 3 100 | = BRGAT = BE 5%
[354 . }
The average number of candidates selected over the given perind for various states
are:

1ﬂﬂ]"i~

For Delhi - m**ﬂ—"—?*m*-?” - 32‘ - 6.8
For lLp, - P24684 0486475 378 .
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10

11

13.

T8+ B6+48+ 70+ 80 351

For U.P. = =— = T2&2
B &
.
For .“:E.J+TH+H:+-B§+EU 354 = T2.B
T ."H.ﬂ
For H _‘i'5+75+55+€rﬂ+ 5._ - G

]
Clearly, this average is maximuam for Delhi.

(B2 + T0 + 48 + 65 + 55)
wmm'[lm+m+m+nﬁ+3m:
[ﬂﬂﬂ
2475
(B3 & 108 + 74 + B8 + B8} ."‘ﬁ].i 10

o 100 | T

ﬂm] « 12.99% = 13%

oired Ratls = » = il
Required Ratlo = to e 1011133+ 143) 86 13 13

Total expenditure of the Company during 20K
= Rs. (324 + 101 + 3.84 + 4168 + T4) lakhs = Ra. 544.44 lakhs.
Average amount of interest paid by the Company during the given period

- Ba [m.u a:.nu‘tﬁq-mq 1-13.4] Lk = Re. [1&33] Lkl
H]

= K=, 36,66 lakhae

Biiiad B [ 1288 + 88 + 2.00 - 234 + B3) =
H46° = | (420 + 142+ 3.96 + 48.4 + 88) “m]
« [ 4254 a-rmﬂ]% - B9.45%,
| 713.35

: [ (2,00 + 252 + 3.84 + 368 + 3.896)

i Pl a 100
i 98 = | T{ogg+ 3MZ+ 324 + 336+ 420) ]""

17
& = 1%,
7 [mu : 1m]

Sinee the classification of the students on Lhe basis of their results and sections form
independent groups, so the total number of students in the cass :
=28 + 233+ 1T+ 27T + 14 + 12568+ 1348 +17 +9 + 15 + 64 + 65 + 46 + T6) = 430
Total number of failures in halfyearly exams in a sEction
= HNumber of students failed in both exams) + (Number of students failed in
half-yearly but passed in Annual exams)] in thal section
Failure rate in half-yearly exams in Section A

[‘-I'umbr:rufmﬁt-um of Section A fuiled in half-yearly HW}%

Total number of students in ‘Section A

(25 + 14) _ (42
[rﬁa":m““”]‘ " [m““”]** oy

Similarly, failure rate in half-yearly exams in :

[ (23 +12) [35
o+ EE iy . = 32.71%
E.ﬂ:tlunﬂtl- TIESTTe }x‘lﬂﬂ]ﬁ 1 El‘l]ﬂ']*l:l 3271
(17 + 8) a5
Section C = 3 100 |% = | == % 100 |®% = 31.25%
< [m+ﬂ+s+4m" | t[m“' } ?
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[ @T+13) A0
Section 1) = 100 |% = | = %100 |% = 30.53%
S [T FET I T i ] [‘nn"E J

Clearly, the failure rate is minimam for Section D,

14. Total number of sfudents passed in annual exames in a section

= [[Number of students failed in hslf-yearly but passed in anoval exams)
+ {Number of students passed in both exams)| in that section

Buecess rate in annual examination in Section A

Mumber of students of Seclion A passed in anmual sxams
Total number of ctudents in Section A

- [ _(4+68) ..-_um]ae ~ [Ermu]ﬁ- - GO6%

] lﬂﬂ‘l'!-

(26 + 14 + 6 + B4 112
SBimilarly, success rate in annual examinations in :

Section B - [ B nm!ﬁw[%ﬂm]%am.m
=

: e [J':d ] 2
Section C= | ————" __ x100|% = | >~ x 100|% = 67.5%
| G7T+8+9+46) “lao”

: | {13+ 76)
Section 13 =
m B lerimimae

Clearly, the suwecess rale m anoual sxamination 15 masmoum for Section A
. Poss percentapes mnoat beast one of the two examunations for different sections are :

]
x‘.I{HIJ% - [E‘:'l umu]% - §7.94%

Far Section A = :%j nm:'-ae - [%nm]% - T5%
For Section B - m;ﬁ*;f::f;ﬂ * mﬂ]'t = [%wlﬂﬂ]i = T8.5%
For Seetion C - :%x 1w]a=~ - [%ﬂw]m — 78.75%
For Section D - i[;f;;f;'i“;m xmn]@ - H‘; . lm]ﬁ - 79.39%

Clearly, the pass perceniage ig maximum for Section D

. Number of students who passed halloyearly exams in the school

= {Number of students passed in halfyearly bul fuiled in anowal exams) + {Number
of students passed in both exnms) = (8 17 + 9 1+ 16} + (B4 + 65 + 48 + T8) = 288
Also, Number of students who passed annual exams in the school

= {Number of students failed in hall~vearly but passed in annoal exams) + (Number
of stedents passed in both exama) = {14 + 12 + & ¢ 130 + (64 + 55 + 46 + T6) = 288
Sinee, the number of sludents passed in half-veacly = the number of students passed
in annunl exams, therefore, it can be inferred that both the examinations had almest
the same difficulty level.

Thus, Statements (=), (&) and (&) are false and Stement (o 15 troe,

Alsa, number of students from Sections A and B whoe passed the anrual exsms
= {14 + 12} + (64 + 55) = 145

And, number of students from Sections A and B who passed the half-vearly exams
= (6 = 17) + (64 + O6) = 143
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17.

Since the number of students of Sections A and B who passed the annual exams is
greater than those who passed the half-yearly exams it implies that for students of
Boctions A and B, the half-vearly exams were more difficnlt as compared to annual
EXAIME.
Hence, Statement (&) is false,
Total number of Oporatars who leflt the Company during 1955-2000

: (104 + 120 & 100 + 112 + 144) = 5BO.
Total number of Operators who jeined the Company during 18852000

= (BRO + 258 + 240 + 208 + 192 + 248) = 2024,

s Required Percentapge » [2505:4 E HI'D}?- = 28.660% = 28%.

Number of Managers working in the Company :
In 1985 = TG0,
In 2000 = (760 + 280 + 179 + 148 + 180 + 193) - (120 + 82 + B8 + T2 + 96) = 1262
~ Percentage increase in the number of Managers
_[o262- 7600
L 76D

Number of Technicians working in the Company :
In 1996 = 1200,
In 2000 = (1200 + 272 + 240 + 236 = 256 + 258) — (120 + 128 + 86 + 100 + 112}

= 1936.
;. Percentage increase in the number of Techniciane

. [__—”533 12000 yonle - s1a9%.
1200 1

Number of Operutors working in the Company :

In 1986 = 830.

In 2000 = (BR3 + 2568 + 240 + 203 + 192 + 248) = (104 + 120 + 100 + 112 + 144)
= 1ddd.

; Percentsge increase in the number of Operators

b [Il_ﬂ-i - 880)

IW] W = 64.74%,

III.I]“I: = G4.08%

380
Number of Accountants working in the Company :
In 1995 = 1180, i
In 2000 = (1160 + 200 + 224 + 248 + 272 + 260) — (100 + 104 + 86 + 85 - 92)
= 1ER4.
s Percentage incrense in the number of Accountants
= luiﬁ"‘_' 100 xl[l-ﬂl'i: - 6241%
1160
MNumber of Peons working in the Company :
In 18986 = 330,
In 2000 = (820 + 184 + 152 + 196 + 224 &+ 200) - {96 + 88 + B0 + 120 + 104
= 1288
s Peroentage increase in the number of Peons
(1288 — H20K)
.[ - :m]%- 5T07T%

Clearly, the percentage increase is maximum in cose of Managers.
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19. Required difference - (272 + 240 + 236 + 255 + 258)
— () + 224 + 248 + 272 + 260) = B8,

20, Total number of Peons working in the Company in 1999
= (B20 + 184 + 152 + 196 + 224) — (86 + 88 + 80 + 120) = 1192
2]. Tetzl number of emplayees of various categories working in the Company in 1997 are :
Managers = (760 + 280 + 179) = {120 + 9% = 1007
Technicans = (1200 + 272 + 240) — (120 + 128) = 1464
Operators = (880 + 256 + 240) — (104 + 120} = 1152
Accountants = {1160 + 200 + 224) = (100 + 104) = 1280
Peons = (B20 + 1B4 + 152) = (96 + B8) = 972
Pooled average of all the five categories of emplovees working in the Company

in 1987 = %KHUW* 1464 + 1152 + 1380 « 97%) = %u 075 = 11906,
all

22. Total population of State 8 = T million.
Population above poverty Tine = [(100 = 199% of 7] millien
= (B1% of 7} million = 587 million.

And so, the number of fernales above poverty line in State S = [%xﬁ.ﬁ?} million

= 243 million.
23. Let the total population of State B be x million,
Then, population of State R above poverty line = [(100 — 24)% of x| million

= [E ® .':'J il o,
104

%
Arnd so, male population of State R above poverty line = [Ex[ﬁnf] million

E L100
Bat, it is given that male populatise of State R above poverty line = 1.9 million
2 76 3 Bxl00=148
e Vo S L = — m &
5 [mn i T T i

Total population of State R = 6.25 million.
24. Female population below paverty line for State P = 2.1 million.
Let the male population below poverty line for State P be x million,

Then, 5: 6= x: 21 = =='-T-'|_?5

Population below poverty line for State P = (2.1 + 1.75) million = 3.85 million.
Let the population above poverty line for State P be y million.
Sinee, 35% of the total population of Siate P is below poverty line, thercfore, B6% of
the total population of State P is above poverty kine fe., the ratio of population below
poverty line to that above poverty line for State P is 35 : 65.

G5« A86

A5 : BB =385y = = 35-—-:7_[5

i, population above poverty line for State P ~ 7.15 million and so, male population
above poverty line for State P = [% T.JE] millian = 3.3 million,
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26. For State @ :
Male population below poverty line = 2.4 million.
Let the female population below poverty line be x million.

Sxid

Then, 3; 5 =24 5% =2 2 = = 4

Total population below poverty line = (2.4 + 4) = 6.4 million.
Ir H¢ be the total population of Stata Q, then,

i
25% of N, = 64 million = N, =| E";;W] million = 26.6 million.
%

For State T ;
Male population below poverty line = & million.
Lot the female population below poverty line be y million.
Then, 5:3=6:y = y:ﬂ;—ﬁ=ﬂ.ﬁ

Total population below poverty line = (6 + 3.6) = 8.6 million,
If N, be the total population of State T, then

['EI.'EH 100

16% of ¥, = 96 million = N, = |—— ]mil]im—ﬁr'lmill'i-m-

e e e e s . e —— —— . m— e . S —— e



